0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
ZHIHN =RNHQQp
7HIHN =RUITQQp H Y +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1NiUID XIFD s
+ ~iVIEHUPQ\ 6¢
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
6]HPPINHY pUpNHIPV 1$C 6Dl IXIDIpN
1S 6D 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
%( 6Diil C[IUD -XIDIpN
%( &VRSRUI BBBBBBBBBRBBBBE BBBBBBBBERE BBBBBBBBBR
_UTHIpY
6liIXV]
+DYL IHIHVIIP O\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
.25201e 78.$&6 /*,. T 3 <%z )* *5%: (
6=%%11e 2/E+ 9% 3 *$- )* *5% = (
$175e *<(1(6 7Th1" ( 3 *$: )* *5% 1 (
$175e *<(1(6 7Th1" ( 3 xmiox *5% = (
$175e &65%$ 3 *$: )* *5% 1 (
$1"5e &63%$ 3 *moox *5%: (
.2520 (5,. 1E1"25 3 o= *5% 1 (
)2-251e 3$33 E*1(6 3 r$n ox *5% = (
1$*<le 6202*<, .$7$/,1 3 xmo o *5% 1 (
9DUJD %plD 3 *$c- )* *5%: (
9= OE5$ 3 *$z )* *5%: (
7yIK 7DPiV /DIRV 3 *$: )* *5% = (
%25261e )$5.$6 .5,6=7,1% 3 *p: x *5% 1 (
%(5el<, -8",7 3 *$- > *5%: (
-HHPHQ %DID\ $QINy +DQQ 3 <z )* *5%z (
6=$59%6 ) (5(1&1e 3 *$: )* *5% = (
6=$59%6 ) (5(1& 3 *$: y* *5%z (
&6E ., =68=6$11% 3 *$: )* *5% = (
&6E., =68=6$11% 3 o= *5%z (
%S7+T (5,.$ 3 wmso= *5% = (
YRIJDRP ,,  +8)
$IQIV] . [IG|S  6JHIJEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
$QID) %HiID (U]
9E5$", /E6=/T1e 3 *B: % *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

7HIHN =R QQp



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
%XIGRVy /DIRVQp
7952&6,. $1,.T 3 * oo *5%: (
)85&6%$ (1"5( 3 *$z * *5% = (
.2&6,6 7,%25 3 *$z * *5$ = (
.17T5 ,679E11le 3 *$- * *5% = (
.175 ,679E1 3 *$z * *5$ = (
%XIGRVy 5D
&6,.T6 *<g5*< 3 *$z )* *5% = (
&BE1<, *E%25 3 *$- )* *5% = (
$GRUIQ . DIDIQ $QQD $C  *Tz * *5$ = (
7yiK OiINiV =RlIiQ $C  *$: )™ *5% = (
YHNHIpQp 7yiK O
.,61e &625"E6 (5=6e%(7 3 Ty *5% = (
7,%258&= 7$OE6 3 *$z )* *5$ = (
.2&=Ele 7520)26 6=,/9,$ 3 xeoox *5% = (
.2&=Ele 7520)26 6=,/9,% 3 *$z )* *5$ = (
%5T -E126 $C *T: o> *5% = (
%E5T1le 9(75T %$51$ -2+$11 $C  *Tz * *5$ = (
5e.$6, 5T%(57 $C  *B:- ¢ *5% = (
5e.$6, 5T%(57 $C  *$- > *5$ = (
*XI\iVQp 7XINR
$*1&6 6E1"25 3 *$z - *5$ = (
$*1&6-8",7 3 *$z - *5% = (
+DPDU ,PUH
1$*< 51T%(57 3 xeoox *5% = (
%8-"26T %(E7$ 3 * o ox *5$ = (
+RIHVQp &VLJH ,
+2/(61le &6,*(./21$ 3 *$z )% *5$ = (
.DQ\y MVIViQ
%$.21<, .5,6=7,1$% 3 wwoov *5$ = (
&6(.ele .,6%(1(" (. OT11,.$ 3 *$z * *5% = (
-LVSiil OyQIND +
%e5&(6 *E%25 52/$1 " $C *T:z o> *5% = (
"20%, 6E1" 25 $C  *$:- )™ *5$ = (
-WVSil SyEHUI -
(/,6&+(5 &63$%ELe 3 o % *5$ = (
./,0T -T=6Q 3 *$z % *5% = (
.29E&6 $77./$ &6$%$ 3 *$z % *5$ = (
-RYiFV MIViQ
1$*< 7$0E6 6E1"251e 3 *$z )* *5$ = (
/$*<9,. /E6=/T 3 *$z * *5% = (
/RUQF] 7yiK -X
=$_+$5 7$0E61e 3 *$z % *5$5:- (
1DJ\ /DIRV
2/E+ ,679E1 3 *$z - *5% = (
1$*< *(5* (/< 3 * o ox *5$ = (
1$*< "E1,(/ 3 xeoox *5% = (
3g67el<, ,679E1 3 *$z * *5$ = (
+RUSTFVIN -y]VHI $C *T:-o* *5% = (
/DYDI eYDH Y $C $E&P) $(*21
/DYDIeYDH Y 3 $(&$) $(*21

%66 %URNHU 6HUYLFH 6\VIHP
THIHVHIP pQ\HIV] i PRO1V 7HHN =RU0ITQQp



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . JNIG|S 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN
1pPHIK =VRIQp $C  *$:- =~ *5% = (
2VI\iQlL /DIRVQp
1eO0(7+ $77,/% $( *$z )* *5%: (
1e0(7+1e O$*T1&6 2562/<$ $C  *$: )* *5%: (
61QID %DUEDUD
6E17$=62/7 /$-26 3 *$z % *5%:(
6=2.(/E6=/T $C  *$: * *5% - (
6]RNH $liltiQp
6lPRQ )HUHQFQp 3 *$:- % *5% - (
-8+E6=1e *<(1(6 O(/, 1" $ e 3 *$z )* *5%: (
6=2_($77,/Ele 3 *$: )* *5% - (
6=2_( $77./Ele 3 wmoox *5%: (
6=2_($77,/Ele .25 *To o * *5% = (
6]pNHNL (UND $C  *$: )* *5%: (
7pVL $QQD OillD
78*<, /$-26 3 *$:- % *5%:(
7yiK 9DipUD
02/1E5 /E6=/T 3 *$z % *5%: (
7XJI\L /DIRV
78*<, 115% 3 *$z )% *5%: (
gVVIHVtIHI pUipN

DRIWDIRP, (85

$iQV] . JULG|S 6]HU]EGE (J\VpJ  7ISXV  7DUWID  7DUDP  %L]W LV ~XIIDOpN

DRUWDRP ,, (85

$iQv] -G]S 6]HU]EGE (3\VpJ  7ISXV  7DUWID  7DUDP %]V IiuV -XIIDOpN
$QID) %HIID (U]
$17%/ $77,/Ele 3 *$: (& *5%: (
ell *DEUHID
9(5(6 *<2=2 7$0E6 3 ="z (& *5%: (
6=("(5.el1<,7h1"( (1,.2 3 >z (& *5% - (
JHNHIH *DEUHD
.29E&6 ,679E1 3 *$:- (& *5% - (
YHNHIpQp 7yiK O
.29E&6 ,679E1 3 >z (& *5% - (
.29E&6 ,679E1 3 *$:- (& *5%: (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

7HIHN =R QQp



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~I
$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW -XIDIpN
_LVSi) OyQIND +
.63E/0T1,.$+$-1$/.$ 3 *T: (& *5% 2 (
.,63E/ 6=,/9,$ 9% 3 *T: (& *5% = (
.63E/0T1,.$+$-1$/.$ 3 *T: (& *5% 2 (
/RUQF] 7yIK -X
$/)g/", E"EO 3 *Ts (& *5% 2 (
.66 $77,/% 3 *T: (& *5% = (
9E5$", 7$0E6 3 *$: (& *5% 2 (

gVV]HVLIHIN pUipN

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUi N tUiVEDQ D] HIV] i PRIV NpTKH]YpiHIpi] 0 V1 PR

KpIHQ EH) 0 D] O,& WRGiEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVHIPpQ\HIV] i PRIV

7HIHN =R QQp



